) kg gr b slug
Jgb m cm mm ft in J&5 p—ci g s o5t
3
m 1 100 1000 3.28 39.37 m—ﬂ 1 0.001 0.0624 0.00194
gT
cm 0.01 1 10 0.0328 0.3937 s 1000 1 62.428 1.94
1b
mm 0.001 0.1 1 0.00328 0.03937 e 16.018 0.016 1 0.0311
slug
ft 0.3048 30.48 304.8 1 12 e 515.38 0.5154 32.174 1
in 0.0254 2.54 25.4 0.0833 1
e m ? cm 2 mm * fit 2 in 2 o m/s ft/s (fps) | ft/min (fom)
m 2 1 10000 1000000 10.764 1550 m/s 1 3.28 196.85
cm 2 0.0001 1 100 0.001076 0.155 ft/s (fps) 0.3048 1 60
mm? 10 ¢ 0.01 1 105 0.00155 ft/min (fpm) 0.0051 0.0167 1
ft 2 0.0929 929.03 92903 1 144
o gr ke Ib
in 2 0.0006452 6.452 645.16 0.006944 1
gr 1 0.001 2.2%107°
== m3 cm3 £t 3 liter gallon kg 1000 1 2.205
m 3 1 1000000 35.315 1000 3.785 Ib 453.6 0.4536 1
ain 10 ¢ 1 3.53%107° 0.001 0.000264
£t 3 0.0283 28316.85 1 28317 7.48 _ _
kb 0l )8 odiges seedaid g s
liter 0.001 1000 0.0353 1 0.2642
gallon 0.00378 3785.4 0.1337 3.785 1 Sl Sl (b 5 S sl 0,5 oy
©) o505 ple)S b S5
<! Ise < Ise JeasslS
kj kg
— 42 1 = 1000 1.2 860
sl kg.k si Y
kcal T
< 1 0.2403 A 1 0.0012 0.86
kg.k cm’
P BTU 1 0.2403 P b 62.4 0.0765 53.66
Ib.F . fe3 : : :
Sl o)) &l Jisl cu o st
i
Jusss 9800 ? 40100 é
g w BTU BTU kj
teal B b S | L 2326,
b 55 9000 — |37600 —13 m?.k 9
m m

T(F)=1.8*T(C)+32

T(K)=T(C)+273.15




